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(a)5EHE
= 4 0 3 = T AN K A CE fﬂigi% E TWB 2
OB BE h NEES BE VA NEES BE VA HAEES
#HIE R K #HIE R b I #HIE R K wIE R #HIE R K
20 0.999 0.756 1.135 0.883 1.244 0916
25 0.969 0.814 1.099 0914 1.230 0.944
30 0.930 0.882 1.049 0.957 1.219 0.989
35 0.891 0.951 1.000 1.000 1.208 1.034
40 0.809 0.975 0.921 0.986 1.055 0.862
(b)BEREHE
= 4 % A = TR K A F ﬂ;oineﬂ E CDB o
BB R E e e e
CWB BE h NEES BE VA NEES BE VA HAEES
#HIE R K #HIE R b I #HIE R K wIE R #HIE R K
—10 0.897 0.979 1.036 1.091 1.000 1.127
— 5 0.911 0.943 1.020 1.032 0.991 1.067
0 0.925 0.906 1.003 0.973 0.982 1.007
1 0.928 0.899 1.000 0.961 0.980 0.995
6 1.078 0.984 1.000 1.000 1.004 1.041
10 1.173 0.961 1.057 0.897 0.996 0.889
15 1.292 0.933 1.129 0.768 0.986 0.700
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130% 5885 (ERL Y FEEHBE)
= N 8 5% B8 K
T EAmIEdEE e .
REBE w5 xEBE & 5 AARBE B 5 HAREE
MERY  WERN  WERN MERN MERN  MERN
20 1.042 0.920 1.167 0.950 1.363 1.180
25 1012 0.943 1135 0.985 1.329 1193
30 0.977 0.957 1.094 1.007 1.285 1.217
35 0.947 0981 1.090 1019 1253 1229
40 0918 0.992 1.011 1.038 1.224 1.262
100% 586 (R FEEHBE)
S L8 % B E
= 4h 0f A - = AR K A IY’Igﬂn E TWwB o
REBRE w5 xEmB & 5 AAABB B H  IAAES
MERY  WERN  MERH WERN MERN  MERN
20 1.020 0.850 1.080 0.930 1.233 1.100
25 0.993 0.873 1.053 0.953 1.206 1.123
30 0.967 0.897 1.027 0.977 1.180 1.147
35 0.940 0.920 1.000 1.000 1.153 1.170
40 0913 0.943 0.973 1.023 1.126 1.193
T0%BEE (EALZY FOHEE)
= N 8 5% B8 K
o m  EAmIEEEE e .
REBE w5 xEBE & 5 AARBE B 5 HAREE
MERS  WERN  WERN WERN MERN  MERN
20 0570 0.465 0.700 0.566 0.869 0.750
25 0570 0523 0.700 0,636 0.869 0.776
30 0570 0,556 0.700 0.669 0.869 0.807
35 0570 0587 0.700 0.700 0.869 0.828
10 0570 0642 0.700 0.767 0.869 0.876
S0%BEE (N1 FEHED)
S L8 % B E
= 4h 0f A - = AR K A IY’Igﬂn E TWwB o
REBE g xEsE & FAMRE & 5 siusasE
MERH  MERN  MERN WEAN MERN  MERN
20 0.394 0.319 0.500 0.413 0.636 0.525
25 0.394 0.343 0.500 0.434 0.636 0.544
30 0.394 0.370 0.500 0.465 0.636 0.577
35 0.394 0.404 0.500 0.501 0.636 0.619
40 0.394 0.437 0.500 0.547 0.636 0.671
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(b)BEREHEE
130%BER (ERNLZY FETE2)
- . = A % A & ¥ B £ TDB
? f; “% é 15 20 25
TWB Ae VA AZEEE | A VA HZEEE | A VA HR MBS
®IERH ®ERK BEGRYE ®WERK BIERK BERX
—20 0.800 1.094 0.820 1.124 0.860 1.146
—10 0.840 1.030 0.860 1.055 0.900 1.081
-5 0.895 1.006 0915 1.030 0.955 1.050
0 0.949 0.978 0.969 1.001 1.009 1.020
1 0.980 0.977 1.000 0.998 1.020 1.022
6 0.968 0.929 1.030 0.950 1.071 0.970
10 1.040 0.936 1.100 0.956 1.174 1.000
15 1.276 0.977 1.256 0.997 1.192 0.919
100%BER(ERNL=-Y FEEERE
- . = A % A & ¥ 8 E TDB
= f; & ﬁ 15 20 25
i oév\jg = Be 5 PHREBE A H PHREBE A H HREEsE
B IERK BERK BEGY ®WBERK WHIFRK BERX
—20 0.976 1.194 0.996 1.210 1.016 1.230
—10 1.020 1.180 1.040 1.196 1.060 1216
-5 1.042 1.173 1.062 1.189 1.082 1.209
0 1.064 1.165 1.084 1.181 1.104 1.201
1 1.068 1.160 1.088 1.178 1.108 1.198
6 1.033 0.961 1.000 1.000 0.966 1.039
10 1.066 0.956 1.033 0.997 1.000 1.039
15 1.110 0.945 1.080 0.988 1.044 1.030
0% BERH (ERNI=-Y B8
- . = A % A & ¥ 8 E TDB
= f; & ﬁ 15 20 25
i oév\jg = Be 5 PHREBE A H PHREBE A H HREEsE
B IERK BERK BEGY ®WBERK WHIFRK BERX
—20 0.850 1.050 0.770 0.960 0.689 1.018
—10 0.850 1.040 0.770 0.940 0.689 0.996
-5 0.850 1.040 0.770 0.930 0.689 0.984
0 0.850 1.030 0.770 0.920 0.689 0.973
1 0.850 1.030 0.770 0.920 0.689 0.973
6 0.770 0.730 0.700 0.701 0.626 0.700
10 0.770 0.632 0.700 0.571 0.626 0.605
15 0.770 0.587 0.700 0.532 0.626 0.557
S0 BER (ERI=V ~E5TEE)
- . = A % A & ¥ B £ TDB
= f; = ;ﬁ 15 20 25
i oév\;‘g = Ae 5 AR EESE Ae ) AR EESE Ae ) AR EBES
®IERH ®ERK BEGRYE ®WERK BIERK BERX
—20 0.610 0.790 0.550 0.710 0.492 0.640
—10 0.610 0.780 0.550 0.709 0.492 0.630
-5 0.610 0.780 0.550 0.709 0.492 0.630
0 0.610 0.770 0.550 0.689 0.492 0.620
1 0.610 0.770 0.550 0.689 0.492 0.620
6 0.550 0.550 0.500 0.501 0.447 0.450
10 0.550 0.416 0.500 0.439 0.447 0.390
15 0.550 0.387 0.500 0.409 0.447 0.370
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